STYLE 5088, 2188, & 2189
AKRON® RENEGADE NOZZLE
} BRASS COMPANY

TECHNICAL SERVICE PARTS

21 24 55 57

0

‘%QT!!» 2
- A,

=S

-

=

AUTOMATIC BAFFLE ASSEMBLY

STYLE 5088

ADJYATABLE BAFFLE ASSEMBLY

STYLE 2189

123025



® 9

.
o




STYLE 5088, 2188, & 2189

AKRON® RENEGADE NOZZLE
TECHNICAL SERVICE PARTS LIST

BRASS COMPANY

Part No.
Item Description Common style style style QTY.
5088 2188 2189

1 BALL BRASS 1/4”0OD * 251
2 SLEEVE PATTERN 19230 1
3 FLANGE 119231 1
4 NUT NYLON INSERT 3/4-10 734101 1
5 SHAPER STREAM 123019 1
6 BAFFLE 19233 1
7 STEM THREADED 768440 768441 1
9 GEAR PATT SLV 119234 1
10 PLATE MOTOR FACE 19235 1
n SCREWSOCHD SETCUP PT 1/4 -20X1/4” 765002 1
12 SCREW SOC HD CAP 1/4 -20 X 5/8” 765029 10
3 RING CAM 19236 1
14 COVER GEAR 19237 1
15 SHIELD DUST 119238 1
16 STOP 769498 1
17 BODY NOZ 119239 1
18 THROAT 19240 1
19 HOLDER KEY 119241 1
20 KEY 3/16 SQUARE X 3/4"LG 727046 1
21 CAP KEYWAY 119242 1
23 SPACER HEX 19225 1
24 SCREW SOC HD CAP 6-32 X 3/8”ST STL 765175 4
25 SCREW SOC HD CAP W/PATCH 6-32X1/2" SS 765052 4
26 O-RING 6 1/4 X 6 2-258 BUNA N70 +OR -5 757304 1
27 O-RING 6 1/8 X 5 7/8 2-257 BUNA N70 +OR 757303 1
28 O-RING 2-270 10 ZATKOFF 757397 1
29 O-RING 2-261 BUNA-N 70 757343 1
30 O-RING PARKER N674-70 2-035 BUNA-N 757280 1
31 O-RING 2 1/4”X 272-226 BUNA N70 757062 1
32 SCREW RND HD MACH ST STL 6-32 X 3/8” 763012 4
33 PINROLL1/8 X 1/2 ST STL 744288 2
34 BEARING NYLINER 10L5-1/2-F Type 5 704736 2
35 GEAR BOSTON NB24B 5/8 STEEL 718220 1
37 GEAR INTERNAL 71821 1
38 MOTOR S/A See Table 1
40 O-RING 3/4”X 5/8"2-016 BUNA N70 757055 1
44 GEAR MOTOR STL 16 TOOTH 718137 1
48 SCREW SOC HD SET LOC WELL1/4 -20X1/4” 765083 765083 1
49 SCREW SOC HD CAP 10-24 X 5/8”ST STL 765028 6
54 SPACER 5000GPM 119229 1

* Kit of 50 ball bearings - P/N 109041
MOTOR S/A ASSY TABLE
Item Connector Type 12v 24V
Speed Clip 21880003 21880004
* Deutsch 21882000 21882001




STYLE 5088, 2188, & 2189
AKRON® RENEGADE NOZZLE
TECHNICAL SERVICE PARTS LIST

BRASS COMPANY

Part No.
Item Description Common Style Style Style QTY.
5088 2188 2189
055 PLATE IDENTIFICATION 742146 1
56 SCREW SET CUP PT ST STL 1/4-20 X 5/16” 765047 2
57 NAIL GRIP 736052 4
63 SCREW SOC HD NYLOCK 1/4 -20 X 1"ST STL 763041 2
64 SHIM POLYESTER BROWN .010 THK 768336 1
65 SHIM POLYESTER PINK .015THK 768337 1
66 FITTING 150MM 116897 1
100 CUP BAFFLE 119305 1
101 CAP NUT See Table 1 1
102 COLLAR BAFFLE 6061T6 HC .10SF 119306 1
103 SPRING BAFFLE COMP 17-7 STSTL 5088 768338 1
107 O-RING 4 7/8"X 4 5/872-247 757078 1
108 NUT JAM 735053 1
201 HEAD BAFFLE See Table 2 1
202 STEM BAFFLE 769822 1
203 ADPT BAFFLE STEM See Table 2 1
204 SPRING SMALLEY #C112-H10-S17 STSTL 770315 1
205 PIN DOWEL 7/16 DIA X 2"LONG STSTL 744446 1
206 SHIM POLYESTER .010THK BROWN 769824 1
207 SHIM POLYESTER .015THK PINK 769823 1
250 PLATE, CARRIER, SHORT S/A (4) GEARS 78201048 2
251 SHAFT OUTPUT, SHORT S/A (4) GEARS 50880007 1
Table1
Item Description 5000 GPM 3000 GPM
101 CAP NUT 119304 119302
Table 2
Item Description 1000-3000 GPM | 3000-5000 GPM
201 HEAD BAFFLE GPM/LPM 121003 123325
203 ADPT BAFFLE STEM 702192 702240

g KRON® PHONE: 330.264.5678 or 800.228.1161 | FAX: 330.264.2944 or 800.531.7335 | akronbrass.com
REVISED: 01/18

WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of five (5) years after purchase against defects in materials or workmanship. Akron Brass will repair or replace

BRASS COMPANY product which fails to satisfy this warranty. Repair or replacement shall be at the discretion of Akron Brass. Products must be promply returned to Akron Brass for warranty service.
Teslell We will not be responsible for: wear and tear; any improper use, mai or storage; negli of the owner or user; repair or modification after delivery; damage; failure to
- Proven follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY
= Tr"sted STATEMENT, AND WE DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential,
a

incidental or indirect damages (including, but not limited to, any loss of profits) from any cause whatsoever. No person has authority to change this warranty.

I1SO 9001 REGISTERED COMPANY © Akron Brass Company. 2011 All rights reserved. No portion of this can be reproduced without the express written consent of Akron Brass Company.



